MATH 33A - MIDTERM 1

Name: Vi &.‘«5 Zho

UID: Yo4-136 61>

Discussion session: ZfF

Question 1:

Question 2:

Question 3:

Question 4:

Total:

lq./%

23 /2
2% /25

29 /2

90 /100

Scanned with CamScanner



Problem 1. (25 points)
(a points) Let A be a square and invertible matrix. Show that

(47)7 = (A7

(b} (1 nts) Find the inverse of the matrix
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Problem 2. (25 points . e e
(a) (10 pointsg Fin% the r)natrix of the linear transformation tl:at ﬁll':t ;J;gjteﬁei -t
v € R? on the line y = z, then rotates it counterclockwise by a m/4 angle,

ol : igin. Consider
by(%)fa(i 50 lg;oz'nts ) Let w be a vector on a line L in R? that passes throufh ;l;s Eﬁll“;gigt & T e
the projr(v) which is the projection of another vector v € R ;)llia/;) ila;rertible? Pl
9 % 9 matrix whose columns are the vectors w and projr(v). I

answer.
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Problem 4. (25 points)

(a) (10 points) Is the set Tha & o paibs
V={(z,y) eR*|2° =9} A -

u-[, = V4 .1,\ l.l‘.
a subspace of R?? i e )

(b) (15 points) Let V, W be two subspaces of E". Show that
VﬂW={3:€R”|:c€Vand:rEW}
is also a subspace of R".
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